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Description

1

Write and complete sequences by adding or taking a number

Introduce the nth term rule for sequences

Term to term rule and the nth term rule

Recap on linear sequences

Special sequences. Squares, cubes, triangular numbers, Fibonacci and
Geometric sequences

Introduction to quadratic sequences

Ny e [ BRIWIN

Find the nth term of a quadratic sequence




Sequences

Write down the first FIVE numbers in each of these sequences. Use these drawings for questions 11 to 14
1) The sequences starts with 7. The rule is add 2. -
< —
-7 4 q / ' ‘ { ‘3| l : [ el —-—L——-l—f
2) The sequences starts with 8. The rule is add 6. | i 1 | E i o
3) The sequences starts with 3. The rule is add 7. o
3 ) LO \ (7 i 2 q‘ 3 | 11) Write down the sequence from the drawings. ! .S . '3. 17
4) The sequences starts with 20. The rule is take 3. 12) What is the rule for the sequence? + 4
. N 7
13) What is the tenth number in this sequence? 3
20,1\, 14 V1B 135,413, 17, 21,25 /24 ,33,37
5) The sequences starts with 15. The rule is take 4. 14) The number 25 is the sequence. Which termisit? 7 th
Werite down the next two terms of these sequences and their rule. Use these drawings for questions 15 to 18
6)8,12,16,20. 2%, 28  Theruleis + 4 O % OOOOO |
7)5,12,19,26. 33, 40 Theruleis + 7 15) Write down the sequence from the drawings. ' 3 5 7, 9
8)25,35,45,55 6S 1S Theruleis + | 16) What is the rule for the sequence? 4+ 2.
9)21,19,17,15. 13 , W Theruleis = Z 17) What is the tenth number in this sequence? |
10) 24,17, 10, 3 _ﬁ'_'\ The ruleis =7 18) The number 17 is the sequence. Which term is it? C\ﬂ‘

0 1, 3,5,7,9,1,13,)5,17,19




Sequences

Qu.1 - n"termrule3n+1 3 x the position + 1
position 1st term | 2nd term| 3rd term | 4th term | 5th term | 10th term
n=1 n=2 n=3 n=4 n=>5 n=10
verm 3x1+1[3x2+13x3+1|3x8+1|3x5+1(3x10+1
= 7 10 13 16 31
Qu. 2 n"term rule 4n - 1 4 x the position - 1
osition 1st term | 2nd term| 3rd term | 4th term | 5th term | 10th term
P n=1 n=2 n=3 n=4 n=5 n=10
t 4x1-1|4x2-1|4x3-1|4x4-1|4x5-114x10-1
erm -
3 7 I IS 14 34
Qu. 3 n" term rule 2n + 3 2 x the position + 3
osition 1st term | 2nd term| 3rd term | 4th term | 5th term | 10th term
P n=1 n=2 n=3 n=4 n=5 n=10
verm ax ) +3|2x2 +3|2x3 +3[2xt+3]2xS +3] 2x1C4+3
5 K| 9 Vi 13 23
Qu. 4 n'" term rule 5n - 2 5 x the position - 2
osition 1st term | 2nd term| 3rd term | 4th term | 5th term | 10th term
position =21 =2 | n=3 | n=4 | n=5 | n=10
: sx }-205x2-2|5x3-2[5x%-2|5x5 -2| 5x19-2
erm
3 8 13 18 | 23 14§
Qu.5 n" term rule 4n + 3 4 x the position + 3
- 1st term | 2nd term| 3rd term | 4th term | 5th term | 10th term
position ———=—T—1—-2 | n=3 | n=4 | n=5 | n=10
Gx 113 |4x2 +3 |wxI+T | bxesd [bxT+3 [4x10+3
t
A X 'S 1q 23 43
Qu. 6 n'" term rule 24 - 2n 24 - 2 x the position
. 1st term | 2nd term| 3rd term | 4th term [ 5th term [ 10th term
position =1 | n=2 | n=3 | n=4 | n=5 | n=10
24-2x1|24-2x2 |24 =2%3| 24 -2¢ | 24 =2%5 | 24-2x10
term 24-2 24-4 |24-6 2u-8 |24 10 |24-20
2 20 18 B 16 4 L
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l;\
1-14,9,14,19..

The termto termruleis + 5

The nthtermrule is 5 =}

The 20th termis 99

5x 20 -
to6-1 =99

L~
437.11,15,19 ...

The term to termrule is +%

The nth termrule is Y433

The 20th termis
Ux 20+
= g0+3
- 83

h
2242016, 12,8 ...

The term to termruleis — 4
The nth termrule is —4n t2¢

The 20th term is
-4 x20+ 2w

- 80+ 2%
= -S6

The rule for a sequence is 4n + 3.

Write down the first five terms of the sequence.
7,00,18,14, 23

What is the 20th term of this sequence?
Ux20+3 =837

Is 64 in this sequence?

Ne, al ocdd nrombes
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3 Therule for a sequence is 2n -3.

6 The rule for a sequence is 24 - 2n.

Write down the first five terms of the sequence.
-1 / } ’ 3 ' Sl 7
What is the 20th term of this sequence?
2x20-2% n
Is 64 in this sequence? to-3=F) i

Nno. alk tesmd are. odd
ok 2n-32GY 2= €T 4261317

Write down the first five terms of the sequence.
22,20,18, 16, 1%

What is the 20th term of this sequence?
24 ~2x20 = 24-80 = 56

Is -64 in this sequence?
-6 = 24-2n

Zn-64 = 2%

on = 5&
2
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Sequences

Write down the first FIVE terms and the 10t for each of these sequences.
1) 4n+3  7,V1,17,19,23 %3
2) 2n+7 Q,n, 13,5, 27

3) 10-n q,%,1,6,5 -5

4) 24-2n 22, 20,1816, 17 &

5 3n-2 ), 4, 7, 16,13 A4

Write down the “by position” or nth term rule for these sequences.

6) 3,579 11 +2 2n+1

7) 6,10,14,18,22 + U un + 2

8) 2,58 11,14 +3 In =1

9) 21,19,17,15,13 -2 -2n +2J

10) 30,27,24,21,18 -3 -3~ + 32

11)

Pattern number (n) 1 2 3 4 5 6
Squares 1 2 3 4 5 6
Triangles 4 6 8 10 12 14

Find the rule for the rule for the number of triangles given the pattern number
(n) 20+2.

How many triangles in the 20" drawing? 2 2012 = 42
12) Here are the first five terms of a sequence.
811 14 17 20 rle 3n+5

Work out the 11th term of the sequence. Explain how you worked out your

3l +3
@ 3345 = 28

answer.

W tem




Complere the Sequen ces
SQUARE NUMBERS ,y4,9,16, ¢2s 36 44 _Gi_‘.' gL

o
’ V] ’

CUBE NUMBERS V, 8, 27, 64k ny e J43 512 724 1000
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TRIANGULAR NUMBERS
),3,6,10, 'S 2 28 36 47 s¢

] . 3 . ( N T Y

»
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Fibonacci Add the last two terms to make the next one. For example 1, 1, 2, 3, 5, g ) ‘3 , 21 , 34 , 5§

Geometric Sequence  One term is multiplied by a fixed number to make the next term. E.g. 1, 2, 4, 8,16, 32, 64

©




Write down the first FIVE terms for these Quadratic Sequences

n? +2n+1 2n® -3 nz-3n+4
psl 1T +2x141 = & ~1 z
=L 2 +2x2 41| = WHeH =T J Z
AT3 34 2x3+) = qHé+1=16 IS “
M 4ty w4l = 1618 H1=228 24 8
Nn=C €Ty 2xTHl = 25+10t1236 b 't
Find the nth term rule for this quadratic sequence 2, 6, 12, 20, 30
N term B Affoece 204 bﬂy 42 +81‘M"/\L|
e -) =
l 2 " & 1= 2 -' N
2 6 o Al b -h=
3o > S
4  2ze o = =16 20 -le=l
S 30 ¢%.2¢ 30-25:%
rvle for the Cequence
RU\L €cf Tle Sequence = A+ 1,2,3,4.%
= AT4N =N




Qu.1

n 1 2 3 4 5
term 2 8 16 26 38

N+ 3n-2

Qu. 2

n 1 2 3 4 5
term 7 17 31 49 71
Qu. 3

n 1 2 3 4 5
term 9 17 31 51 77
Qu.4

n 1 2 3 4 5
term 8 30 62 104 156
Qu.5

n 1 2 3 4 5
term 6 24 52 90 138
Qu. 6

n 1 2 3 4 5
term 11 15 15 11 3
Qu.7

n 1 2 3 4 5
term 12 26 44 66 92
Qu. 8

n 1 2 3 4 5
term 3 6 13 24 39
Qu.9

n 1 2 3 4 5
term 6 17 34 57 86

Fadl  the rules
Cor Mase quadrstic

Seq uenced,

2/\7' + Ll"/\’f'"

At -+ T
S+ In -4
5—(\1 +3f\ "'2.

_an'4—l00 + 3

20t + 3 +2

Zr\?' ~3a + L'_

3n1+2/\+ ‘




